Year 5 Maths Week 2 Lesson 4 Subtraction Answers
Red

4865 — 704 = 4161
8887-776 =8111
4476 - 335 = 4141
6450 — 428 = 6022
5761 — 6359 = 5102
4531 — 146 = 4385
1843 — 836 = 1007
7304 - 485 = 6819
9290 - 917 =8373
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1843 — 836 = 1007
7304 - 485 = 6819
9290 - 917 =8373
7520 - 849 =6671
6471 — 689 = 5782
2810 - 733 =2077
3458 - 638 = 2820
7353 - 607 = 6746
5861 - 319 = 5542
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Green

3458 - 638 = 2820
7353 - 607 = 6746
5861 -319 = 5542
8091-111 = 7980
4840 - 397 = 4443
6808 - 771 = 6037
7680 — 497 = 7183
7302 - 893 = 6409
8827 - 334 = 8493
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